
 

 

 
 

 

 

Model Answer   

Q1:  

[1] (A) Cathode and anode, respectively.  

  
[2] (D) Sodium chloride, sodium hypochlorite, and water.  

 
[3] (C) Lead chamber  

In this method nitrogen oxides were used as catalysts. 

[4] (D) Contact 

In this method vanadium pentoxide were used as catalysts. 

[5] (A) Oleum 

  
[6] (B) silver  

 
[7] (C) Schweizer's reagent  

 
[8] Heating ammonium carbamate gives (B) Organic fertilizers        

 
[9] In the reaction of BCl3 with NH3 (A) BCl3 is acid and NH3 is a base  
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[10] Solution of sodium carbonate is (C) basic  

 
[11] Knowing that oxidation no of Sn equals +2, Na4 [Sn (OH)x] (C) x=6  

-6+2=-4 

[12] (B) trichloroacetic acid > acetic acid in acidity  

The small pKa value produces strong acid. 

 Q2:  

 

 

 


